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Write a debate on :
‘Reservation Policy

What technologies al
as per the views of T.J. Gordon ?

Justify the title “Mushroom of Death”.

.What does Indian

Environment’. Sugg
“Experimenter is an
this statement.

Write a dialogue betrveen two friends ¢
about their career plaLns after graduation. 10

)

in India’.

est ways to make it
Experiencer too.”

Gandhi mean by

24001
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discussing

e likely to develop by 2050,

10
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‘Human
better. 10
Elaborate
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B. Tech. 1st Semester F-Scheme Examination,

Time allowed : 3 hours]

December-2016
ESSENTIAL OF COMMUNICATIO
Paper-HUM-101-F
[Maximum marks : 100

Note : Attempt five questions in all. QuestiorL No. 1is
‘ compulsory. All questions carry equal mLzrks. 20

1. (a)
(b)

(c)

d

(c)
2. (a)

(b)

(c)

24001-P-4-Q-9(16)

Give synonyms

eager, idle, ruin 3
Give antonyms
pc‘)ison, absurd 2
Tl}ans(:ribe the following words :
book, teacher, sky, village, eyes 5
hat are the qualities of an experimenter? 5
Describe the working of thermometer. 5
Make sentences of the following pair of words to
clarify their meaning. - 10
accede/exceed, adapt/adept, coarse/course,
m%.nsion/mention, rite/right.

Give synonyms of a

Il five :

esteem, invincible, mutiny, proceed, vigilant. 5
ake five words using the given prefixes and

suffixes

: WS s eeeensrnann hood, ............ isefize, de............ ,
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3. (a)
(b)
4. (a)
(b)

24001

(2)

Write a note on any

0 .

(i) Speech sounds in English
(ii) Classification of consonants acc
place of articulation

(ii1) Plosives and fri
scribe the following words :

Tr

foc

Sy

rtball, run, home

given.

@)

(ii

(i

1) Make haste. Yo

(iv) Issheslim ?Is

(v

M
@)

(@i

(i1

(v

He is very old.

ake sentences base
S + v () + that

1) S+be+noun

catives.

nthesize the sentences as per the directions

He raised his gun. He took aim. 7
_ (Simple Sentence)
) He was fined. He was sent to prison.

(Compound
u will be late.

(Compound
she fat ?

(Compound

(Complex
d on the following
clause

) S+ v(i)+toinfinitive

(iv) S+ v (t)+n/pn+to+n/pn
) S+ v (t) +dependent clause/ques

24001
2x5=10

ording to

10

- maths, mountain, class, morning, green, duty, father

10

Sentence)

Sentence)

He enjoys good health.

Sentence)

10

tion

Sentence)

structures.

She, the

(3

river

Said to him, the sea :
All my life

I’ve bee

and flowing towards you

for your sake

in the end it was I

Who turned into sea

awoman’s gift.

is as large as the sky

but you

went on

worshipping yourself

you never thought

of becoming a river

and merging

with me.

(@)

(b)

6. (a)

P

d

title.

I

¢l

The poem attacks g

ia. Do you agree

Social Networ

(i1) Importance of

n dissolving myself.

rraphrase the given poem and sugges

ender bias against
? Support your opil

rite a speech on any one of the follow

ks and young gené

blood donation

(b) Explain the working of internet.

24001

01

t a suitable
10

women in
nion. - 10
ing‘ topics:
ration
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